
 

Week 3 Thursday

Lasttime weshow that the solution set for AI 5
is It solution set of AI D where 5 is a

particularsolution of AT 5

Therefore it At D has a unique solution then

AI J has a unique solution which must be 5 8

The converse is not necessarily true

a m for At 5 is

E it I
no solution since there is5 0 is the only solution

since there is no free variable a pinot in last column

In order for AT 5 to have a solution

we just need 5 4
Q For this A is it true that At 5 has exactly one

solution when AI 5 has a solution Yes

Conclusion If AT D has a unique solution then A2 5

has at most one solution

Q It At 8 has a solutions how many solutions

AI J has



Conclusion It At 5 has a solutions then AI I

either has no solutions or has a solutions
I simply use

Less trivial examples that are inconsistent structure of
solution set

a m
of nonhomogeneous0 0 0
system1 1

AT 3 a solutions At 5 no solution

16Application

Economic input output model says that each

sectorof economic pays the same amount of money
with the amount ofmoney they make

Sector A B C

E
30 4

my
g

10

M 10 20

Q What is the equilibrium pricing total value for
each sector Pe Pe Pan
For C Pc 0.2pct 0.8Pe t 0 4PM O

0.8Pc 0.8Pe o 4PM o



F Pp 0.3 Pet 0 IPp t 0.4 Pna

M Pan 20.5pct 0 IPp t o 2Pa

a.m 8 8 4 0

s 9 4

5 I 8

s A this purely lucky or

coincidence

I If
can you ever find a
situation where there are

two zero rows in e f
m

µ ms

io 903 4 3 g Pe Pan

r

D Pan is the parametric vector form

ChemicalEquet Read for Yourself

Networked subway system in a city
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For node A 1000 75 Xy X

node B 74 78 76 300
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